



名前: _____

日にち: _____ スコア: _____

$$\left(-\frac{1}{3}\right)^{(-2)} - \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^{(-2)} + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^{(-1)} - \frac{1}{5} =$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-1)} + \frac{3}{5} =$$

$$\left(-\frac{2}{5}\right)^{(-2)} + \frac{3}{4} =$$

$$\left(\frac{3}{5}\right)^{(-1)} + \frac{1}{4} =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{2}{5} =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{5}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{2}{5}\right)^{(-1)} + \frac{1}{6} =$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{1}{5} =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \frac{2}{5} =$$



名前: _____

日にち: _____ スコア: _____

$$\left(-\frac{1}{3}\right)^{(-2)} - \frac{1}{4} = \frac{35}{4} = 8\frac{3}{4}$$

$$\left(\frac{1}{5}\right)^{(-2)} + \left(-\frac{1}{2}\right) = \frac{49}{2} = 24\frac{1}{2}$$

$$\left(\frac{3}{4}\right)^{(-1)} - \frac{1}{5} = \frac{17}{15} = 1\frac{2}{15}$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{1}{2} = \frac{31}{2} = 15\frac{1}{2}$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{1}{150}\right)$$

$$\left(-\frac{1}{6}\right)^{(-1)} + \frac{3}{5} = \left(-\frac{27}{5}\right) = \left(-5\frac{2}{5}\right)$$

$$\left(-\frac{2}{5}\right)^{(-2)} + \frac{3}{4} = 7$$

$$\left(\frac{3}{5}\right)^{(-1)} + \frac{1}{4} = \frac{23}{12} = 1\frac{11}{12}$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{2}{5} = \frac{26}{15} = 1\frac{11}{15}$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{2}\right) = \frac{9}{16}$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{5} = \frac{17}{20}$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{50}\right)$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{3}{4}\right) = \frac{21}{16} = 1\frac{5}{16}$$

$$\left(\frac{1}{5}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{124}{5} = 24\frac{4}{5}$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \frac{1}{2} = \left(-\frac{5}{6}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{6} = \frac{5}{12}$$

$$\left(-\frac{2}{5}\right)^{(-1)} + \frac{1}{6} = \left(-\frac{7}{3}\right) = \left(-2\frac{1}{3}\right)$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{5} = \left(-\frac{11}{80}\right)$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{1}{5} = \frac{121}{20} = 6\frac{1}{20}$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \frac{2}{5} = \frac{43}{5} = 8\frac{3}{5}$$